20105 (DB EEESEBIT HHFELIFISHNEZFE (X)

2010F1A1HMH2010512A31H%T

(URA D ER) (B4 M)
i} = 2010FEEEFH | 2010FELNTH 1R i =
—REEBARA 1,000,000 0 1000000
# B2 WA 0 0 0
F A2 A 0 0 0
2 I A B2 1,200 0 1,200
L H A G G 1,001,200 - 1,001,200
CIRCEES RS- 1,000,000 1,000,000 0
A & Et 2,001,200 1,000,000 1,001,200
(ZHDER) (B4 M)
i} B 20105 EBEFH| 20106 ELHFH TR 7] =
HEFERBAZH 0 0 0
— iR = AR A X 1,001,200 1,000,000 1,200
L8 X A G 1,001,200 1,000,000 1,200
LH X EHE 0 -1,000,000 1,000,000
RPBBNXEHE 1,000,000 - 1,000,000
X A& &t 2,001,200 1,000,000 1,001,200

XSZEFIE ¥1,000,000 X 0.15% X 80%=¥2,000 (20104128 K F18)

EHAFEL M 20101 BFE)
+7XER1T §IRETZ[E ¥1,000,000




	什器備品

